Project 2:

Below are the tropical storm data in the Atlantic from 1996 to 2009.

	year
	1996
	1997
	1998
	1999
	2000
	2001
	2002
	2003
	2004
	2005
	2006
	2007
	2008
	2009

	Number of depressions+

storms+

hurricanes
	13
	8 
	14
	16
	18
	17
	14
	20
	17
	31
	9
	17
	17
	11

	Number of hurricanes
	9
	3
	10
	8
	8
	9
	4
	7
	8
	15
	5
	5
	8
	3

	SST anomalies
	0.41
	0.04
	0.44
	0.25
	0.18
	0.02
	0.23
	0.18
	0.42
	0.66
	0.48
	0.46
	0.22
	0.18


(1)Plot number of storms, number of hurricanes against year.

(2)Plot number of storms, number of hurricanes in terms of SST anomalies.
Matlab code:
clear;

year=[1996:1:2009];

num_storm=[13 8 14 16 18 17 14 20 17 31 9 17 17 11];

num_hurr=[9 3 10 8 8 9 4 7 8 15 5 5 8 3];

sst_anom=[0.41 0.04 0.44 0.25 0.18 0.02 0.23 0.18 0.42 0.66 0.48 0.46 0.22 0.18];

N=length(year);

sst_range=[0:0.2:0.8];

N1=length(sst_range);

num_sst_st(1:N1-1)=0;

num_sst_hu(1:N1-1)=0;

num_year(1:N1-1)=0;

for n=1:N

 for i=1:N1-1

  if sst_anom(n) > sst_range(i) & sst_anom(n) <= sst_range(i+1) 

  num_sst_st(i)=num_sst_st(i)+num_storm(n);

  num_sst_hu(i)=num_sst_hu(i)+num_hurr(n);

  num_year(i)=num_year(i)+1;

  end

 end

end

subplot(3,1,1);

plot(year,num_storm,'o-');

hold on;

plot(year,num_hurr,'r*-');

ylabel('Accounts per year');

xlabel('Year');

legend('Storms','Hurricanes');

hold on;

subplot(3,1,2);

bar(year,num_storm);

hold on;

bar(year,num_hurr,'r');

ylabel('Accounts per year');

xlabel('Year');

legend('Storms','Hurricanes');

hold on;

subplot(3,1,3);

bar(sst_range(1:N1-1),num_sst_st./num_year);

hold on;

bar(sst_range(1:N1-1),num_sst_hu./num_year,'r');

ylabel('Accounts per year');

xlabel('SST anomalies');

h=legend('Storms','Hurricanes');set(h,’orientation’,’horizontal’);
hold on;

